Cancel\4341-013.dwg

MATERIAL __LIST
PART NO DESCRIPTION ary.
434L-0l1A [DUMP VALVE BODY-304 SS
COVER PLATE-304SS. (PART OF ITEM D
0FB028 | TRANTORGUE
AAGS _|BALL BEARING-FLANGE, 1 3/8° SHAFT
4L-010 _[ACTUATING LEVER
4L-007A [DUMP_PLATE-304S.S
4L-008A [LEVER SHAFT-304S..
C104 [PIVOT BRACKET W/PIN & SNAP RINGS
434L-009A [LEVER ARM-304SS
450VC140 |AIR CYL. 2 1/2" BORE 8° STROKE
450VC103_|PISTON ROD CLEVIS W/PIN & SNAP RING
[450JH180_|5/8° LOCKWASHER S.5.
430L-082 |FLANGE GASKET-NEOPRENE.
434L-0L4A | DUTCHMAN-WITH CLEAN-OUT-304 SSS.
450BB030 | GASKET-STRIP-1/8 X 5/8 1
434C-006 | PLEXIGLASS WINDOW.
450HJISI | CONTROL BOX — NCC
4500H374 |5/16-18 X 3" LG HEX HD CAP SCR. S.5.
450LE039 | SOLENOID VALVE-MAC 712C-12-PI-11iCA
450PK149 | PIPE NIPPLE STL 1/4° X 1" LG. (CLOSE)
450PKa42 | FRL BKT,
[[22]450PK273 | FILTER-REGULATOR-LUBRICATOR
<+ 450PA0RS | ELBOW 1/4 TUBE X 1/4 MNPT
4500HI77 | 5/8 X 2 1/4° LG HEX HD CAP SCR S5
450P-015_| NYLON TUBE 1/4 OD 2
450PK216 | 1/4 PIPE TEE
[[27 [450HNOLS | 1/2" 50° CONDUIT CONNECTOR
9/16" DIA. HOLE [28[4S0HPoL6 | 1/2" CONDUIT-SEAL TITE
450PA039_| ELBOV 1/4" TUBE X 1/4” FNPT
TYP 32 PLCS ® 450JHI65 | 1/2-13 X | 1/4" LG. HEX HD. BOLT Si.
3/8-16 HEX NUT S5,
74-20 X 3/4" LG, HEX_HD, BOLT
74-20 HEX _NUT 53,
/2-13 X I 1/2" LG HEX HD. BOLT SS
4500H174 | 1/2-13 HEX NUT SS.
36 1/4"_LOCKWASHER

22" SQ-

‘\ﬂ‘m‘

16” SQ-

5 TYP =

=]

oS5

+
+
¢
A
R Ry
®
EE

3

i

n
»

ol
B

i
€]

n
i

ru
3

]
o
|
I
iy
8%

NS

e £}
3

.

e

8|2

=

b ®| 37 [4500HI78 | 5/8-11 HEX NUT S.5.
® (38145001230 [ 5/16-18 HEX NUT S

[ Y P Y ey

[ 1
@
I
&

N
LR SiE s ——
ut
+
+
+

Al

RSN

53

st

29
| 31

23

g

174

@@

I ————— 21)(22

27

&

28,

|
]
|
1
|

i ¢ 25,

s

[B [S-18-99 [sHOW CYL PIPING [
1 30 WAS 3/8-16,ADD IT 37|
[A]4-14-99 [ 12 vs 12T 18 was V4207 24 vs /13 GL

REVISIONS

WM. W. MEYER & SONS, INC.
1/47 NPT TYP (8)62)63)ae) SKIKIE, _ILLmvots
16X16 DOUBLE DUMP VALVE, AIR OPERATED

WITH DUTCHMAN AND CLEAN OUT-304 SS.
OUR S.O. NO. REF. S.0. NO.

28 1/1

DATE DRAWING NUMBER

434L-013

DRAWN
GJL
APPROVED

2-12-99

MRD

1of2



